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1 FER23E11H14H 0.17 FER24%1A308 0.15 -2
2 FR23%E11 8148 0.17 Fri24%1 8308 0.15 =
3 FER23FE11H148 0.17 FER245%1A308 0.17 FARAI7ILE
4 Tri23F11A148 0.16 TR24%1H30H 0.16 FRI7ILE
5 FER23FE11H148 0.18 FER24%1H308 0.16 FRAI7ILE
6 FK234E11 8148 0.17 Fr2451830A 0.15 FAI7ILb
7 FER23FE11H148 0.17 FER24%1A308 0.15 FRAI7ILE
FK234E11 8148 0.17 Fr2451830A 0.16 FAI7ILb
9 Fk23411F148 0.21 F 2441 A30H 0.19 FAI7ILE
10 B E = Gl
11 Ff23411 A 148 0.17 F24%1 8308 0.14 t-&
12 B E = Gl
13 FER23FE11H148 0.15 FER24%1A308 0.15 -5
14 A E ¥ 7]
15 ER23FE11H148 0.19 FER245%1A308 0.18 FARAI7ILE
16 FK234E11 8148 0.23 FR24%1 8308 0.20 &
17 ER23FE11H148 0.20 FER24%1A308 0.17 FRAI7IL(fIEL)
18 TRi23F11A148 0.22 TR24%1H30H 017 FRAI7ILh(EIEL)
19 ER23FE11H148 0.21 FER245%1H308 0.21 FRAI7IL(HIiEL)
20 ER235E11 8148 0.24 Fri24E1A318 0.21 =
21 pil| iE = Al
22 FK234E11 8148 0.17 Fr2451830A 0.19 FAI7ILbk
23 ER23FE11H148 0.14 FER24%1A308 0.20 FRAI7IVE- Tk
24 ER235E11 8148 0.17 Fri24%1 8308 0.17 -=®
25 ER23FE11H148 0.24 ER24%1A308 0.19 -5
26 B E = Gl
27 b E = A
28 FRE23E11 B 14H 0.20 Fr24518318 0.16 FAI7ILb
29 b E = A
30 FR23FE11 158 0.22 TR2451A318 0.19 JL—Foi kL
31 FERL235E11 8150 0.14 ER24%F1A318 0.10 *
32 FK23411 8158 0.17 FTR24%1 8318 0.17 t
33 Frk23E11A148 0.22 Fri24%1 8308 0.19 Hi#E, 7RI7ILE
34 B E = Gl
35 b E = A
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36 FER23FE11H148 0.20 ER24%F1A318 0.19 *
37 FK234E11 8148 0.21 Fr24518318 0.16 FAI7ILE
38 F234F 11 H14H 0.17 Fr24%1 8318 0.19 FAI7ILE
39 B E = Gl
40 FE23F 115 15H 0.16 FR24%1 8318 0.17 T 7RI7ILE
41 TRi23F11A148 0.18 TR24%1H30H 0.13 FRI7ILE
42 Fk23411H158 0.15 F 2441 A30H 0.13 FAI7ILE
43 FRE23E11 B 14H 0.26 24518308 0.25 t
44 b E = A
45 B E = Gl
46 b E = A
47 TR23FE11 158 0.23 TR2451A318 0.18 JL—Foit
48 FE23F 115 15H 0.13 Fr24%1 8318 0.15 FAI7ILE
49 FR23E11 8158 0.17 Fr24518318 0.14 FAI7ILE
50 FERL235E11 8150 0.17 ER24%F1A318 0.17 FRAI7ILE
51 TRi23F11A148 0.24 TR24%1H30H 0.22 FRI7ILE
52 Al E 2 G|
53 FK23411 8158 0.22 Fr24518318 0.19 FAI7ILE
54 FER23FE11H158 0.25 ER24%F1A318 0.23 FRAI7ILE
55 FK234E11 8158 0.21 Fr24518318 0.18 FAI7ILE
56 TRE235%11 /158 0.15 Fri24%E1 8318 0.14 JL—Foy Lk
57 FRE235E11R15H 0.20 TR24F1A31H 0.16 Hith-7XI7I)Lb
58 FERL235E11815H 0.19 ER24%F1A318 0.16 Hith-7RI7ILE
59 FK23411 8158 0.18 FTR24%18318 0.14 t
60 TRL23%11 /158 0.16 Fri24%1 8308 0.15 HEK BRHIT
61 B E = Gl
62 FER235E11 814 0.25 ER24%F1A318 0.18 FRAI7ILE
63 FER23FE11A 148 0.21 TR245F1A31H 0.19 Hith-7XI7I)LE
64 FERL235E11 8150 0.23 ER24%F1A318 0.24 Hith
65 B E = Gl
66 FERL235E11 8150 0.15 ER24%F1A318 0.16 Hith-7RI7ILE
67 FRE235E11H15H 0.18 TR2451A31H 0.16 Hith-7XI7I)LE
68 ER23FE11H158 0.17 ER24%F1A318 0.19 Hifh-
69 FRE23E11 B 14H 0.49 FTR24%1 8318 0.48 -+
70 Ff23411 A 148 0.31 FR24%1 8318 0.18 FAI7ILE




=

INHEIDICE 1T HZER RS IRE

P o

40

MG R

S 1[EH 2[EH ‘
No. sl E RSB o e | PEORR
(4Sv./h) (4 Sv./h)

7 38 i R a
72 B E = Gl
73 FER235E11 8150 0.24 ER24%F1A318 0.24 *
74 Tri23%F11A15H0 0.24 TR24F1A31H 0.21 Hifh-+
75 FERE235E11H15H 0.20 FER24%1H308 0.18 Hifh-
76 B E = Gl
77 b E = A
78 FRE23E11 B 14H 0.21 Fr24518318 0.19 FAI7ILbk
79 ER23FE11H148 0.20 ER24%F1A318 0.19 FRAI7ILE
80 B E = Gl
81 pil| iE = Al
82 FK234E11 8148 0.22 FTR24%18318 0.21 t
83 b E = A
84 TR23F11A 148 0.26 TR245F1A31H 0.19 FRI7ILE
85 F23F 11 H14H 0.18 Fr24%1 8318 0.18 FAI7ILE
86 B E = Gl
87 ER23FE11H158 0.22 FER24%1A308 0.18 Hith
88 FK23411 8158 0.20 FR24%1 8308 0.20 t
89 FE23F 115 15H 0.19 FR24%1 8318 0.17 T 7RI7ILE
90 B E = Gl
91 ER23FE11H158 0.20 ER24%F1A318 0.19 FRAI7ILE
92 FRE23E11 8158 0.17 FTR24%18318 0.14 t
93 FERL235E11815H 0.18 ER24%F1A318 0.16 T-7RI7ILE
94 FR23FE11 158 0.22 TR245%1H308 0.22 IL—FoT Lk
95 F23F 115 15H 0.18 F k2441 A30H 0.20 T-7RI7ILE
96 FR23E11 158 0.21 24518308 0.19 t




